ERRATA

Page For Read
96,0 Note that lim,_,4g,l,,-, Where 4, Denote by 4, the closure of V,(g,(4).
, is the closure of V,(g,(4)).
97, Us(CH eV Us(CnV
98* B, = {x B, ={(x, )
1004, all fully invariant all
1004 ZR = J. ZR<J and EJ < ER fully invariant,
10216 rejgs EB rejy, EB
1034 ZMcK<M K<M and ZM =0
103° C<Mis C<Mand C < M arc
1047 L/Z,M is L/Z,M < M/Z,M and E(LJZ,M) <
< E(M/Z,M) arc
1052 free free injective
1083 by 1.7, if if
1103 J/Z,R EJ < ER is fully invariant, [J/Z, R]
110° @) and (i) (ii)
1131 K#A4 K#d
1164 R R

Fundamenta Mathematicae 139.2



